160m
(T=3cm)
1=

L4 LT
N=1=(

R L

— N —

T
| RE&HT

it
zr
gz

FREM A EERER (KA WENMDMERAIRHEESEEIS

FEE

Hm&ES

$=1/2000 (A3)

FET BRI BBRANR

® 4

i

E N

BEES




RERBO

15.50m
g
22.00m g
20.00m 20.00m 20.00m 20.00m 20.00m
= = = = =
° = ° ° ° °
o NS w &~ o
[e=] ~ (=2 [=2) o ol
. ; | ; ; N
= 3 S \ S & 13
3 3 3 3 3 3
EI o
XZESF (LK) BOX(600%500) & S HE LRSS t=3m  (L50. 0mx W1, Onx 265 F) Hok# (600) BIAE
X (EK)BOX BHEHRE 3EHM
20.00m 20.00m 20.00m
= = = =
° ° ° °
ol (=2] ~ co
/\
N
hd > =~ el
(=23 (=23 ~ (=23
o o o o
3 3 3 3
XEETFTRKEHEHET S
- ]
e
I % % BB ERFEERX (RER) TEHMNFRITGSEEETIE
[T RN
R i 4 $=1/300 (A3) "HES 2
EBmMA PRET BREHB EBRAWIIR




SHETER EHW=15 (A) 3.0m

RERBO

15.50m
i
= N\ s
22.00m 3
SAR EHW=15 () 7.0m
20.00m 20.00m 20.00m 20.00m 20.00m
A REW=15 (&) 21.5m WEFE W=30 58.4m (W=15# & fE)
= = = = =
° =] o o ° °
o N (e8] ~ (<2
777777777777777777777777777777777777777777777777777777
|
e =~ I i g o o
3 3 | 3 3 3 3
|
|
-—
FiE#H W=30 3.5m PRB E#HEW=15 (&) 160.0m
#EESE W=45 4 0m@]7
WS ERT W=30 16.5x 28FF (W=15#a & &)
20.00m 20.00m 20.00m

8 ON

wo9 "9

I % 4% R A ERHER (REE mENMDMERITRAEREETS
m & XEfREFR
PR EHW=15 (F) 160.0m
R E $=1/300 (A3) HES 3
EBHA FET  EHRE EBEAIR




